

Most Requested Janitorial Supplies



Air Freshener Item: BWK902

Price: **\$52.63** CT

Metered Air Freshener Refill, Powder Mist, 7 oz Aerosol Spray, 12/Carton



Air Freshener

Item: BWK904

Price: **\$58.72** CT

Metered Air Freshener Refill, Citrus Sunrise, 7 oz Aerosol Spray, 12/Carton



Air Freshener

Item: BWK908

Price: **\$38.25** EA

Classic Metered Air Freshener Dispenser, 4" x 3" x 9.5", White



Bath Tissue

Item: BWK45XTRA

Price: **\$81.72** CT

Boardwalk Green Xtra Controlled Bath Tissue, OptiCore, Septic Safe, 2-Ply, White, 1,000/Roll, 36 Rolls/Carton



Bath Tissue

Item: BWK6145

Price: **\$59.99** CT/96

Bathroom Tissue, very soft, 2-Ply, Individually Wrapped, 4 x 3 Sheet, 500 Sheets/Roll, 96/Carton



Bath Tissue

Item: AWT81000

Price: \$38.25 CT

Jumbo Bath Tissue, Premium soft, 2 - ply, 12 Rolls, 1000ft, 9" wide

Our softest premium white roll towel.



Bath Tissue

Item: AWT80591

Price: **\$34.50** CT

High Capacity Small Core Bath Tissue, 4.0" x 3.78", 36 Rolls / Ct

1,000 sheets! Very soft. Save money and labor. Ask us how to switch to this item.



Bath Tissue

Item: AWT80445

Price: **\$50.75** CT

Optima 445, Soft 2 - ply, 80 Rolls/500 Sheets, 4.3" x 3.5"

Very soft. Larger sheet size.



Bath Tissue

Item: AWT103050

Price: **\$44.90** CT

Toilet Tissue, Soft, 2 - ply, 96 Rolls / 500 Sheets

Lowest cost \$.45 roll, soft



Bath Tissue

Item: AWT80560

Price: **\$45.35** CT

Optima 560, Ultra Soft 2 - ply, 60 Rolls / 450 Sheets, 4.3" x 4.0"

Compare to the softest premium brands



Bath Tissue

Item: PGC04177

Price: **\$9.95** PK/4

Charmin Ultra Stong Toilet Paper - 2 Ply - White, Soft, 4 x 362 sheets



Bath Tissue

Item: SOL21724

Price: **\$64.99** CT/96

Livi Solaris Paper Two-ply Bath Tissue - 2 Ply - 500 Sheets/Roll - 4" x 3.66" sheet, Embossed, Eco-friendly, Soft, Individually Wrapped - 96 / Carton

Grown from 100% renewable fibers



Price: **\$10.00** EA

Bath Tissue Dispenser Boardwalk Xtra 2-Roll Controlled Bath Tissue Dispenser, 11.13 x 7.38 x 8.88, Item: BWK47GREEN Translucent Black



Bath Tissue Dispenser

Item: BWK1529 Price: **\$52.74** EA

x 6 x 12.25, Black

Bath Tissue Dispenser

Item: BWK1519

Price: **\$30.28** EA

Single Jumbo Toilet Tissue Dispenser, 11 x 6.25 x 12.25, Black

Jumbo Twin Toilet Tissue Dispenser, 20.25

Bowl Clip

Item: BWKCLIPSAP

Price: **\$34.90** BX

Bowl Clip, Spiced Apple Scent, Red, 12/Box



Bowl Clip

Item: BWKCLIPMAN

Price: **\$34.90** BX

Bowl Clip, Mango Scent, Orange, 12/Box



Bowl Mop

Item: BWK00160EA

Price: **\$1.45** EA

Toilet Bowl Mop, 12" Handle, White



Broom

Item: BWK932AEA

Price: **\$9.80** EA

Angler Broom, 53" Handle, Yellow



Broom

Item: BWK916P

Price: **\$118.20** DZ

Maid Broom, Plastic Bristles, 54" Overall

Length, Dozen



Broom Handle

Item: BWK636

Price: **\$10.74** EA

Fiberglass Broom Handle, Nylon Plastic

Threaded End, 1" dia x 60", Black



Bucket Combo

Item: BWK2635COMBOYEL

Price: **\$74.98** EA

Pro-Pac Side-Squeeze Wringer/Bucket Combo, 8.75 gal, Yellow/Silver



Cart, Janitors

Item: BWKJCARTGRA

Price: **\$178.86** EA

Janitor's Cart, Plastic, 4 Shelves, 1 Bin, 22"

x 44" x 38", Gray



Cleaner, All-Purpose

Item: CLO35419CT

Price: \$38.73 CT/3

CloroxPro™ Pine-Sol All Purpose Cleaner -Concentrate Liquid - 144 fl oz (4.5 quart) -Lemon Fresh Scent - 3 / Carton - Yellow



Cleaner, Disinfectant Spray

Item: CLO38504CT

Price: **\$86.91**

Clorox Commercial Solutions Disinfecting Aerosol Spray - Spray - 19 fl oz (0.6 quart) -Fresh Scent - 12 / Carton



Coated Gloves

Item: PIP715SNFTKL

Price: **\$47.85** DZ

Premium Seamless Knit Nylon/Spandex Glove with Nitrile Coated Foam Grip on Palm, Fingers & Knuckles, DZ



Coated Gloves

Item: PIP715SNFTKS

Price: **\$47.85** DZ

Premium Seamless Knit Nylon/Spandex Glove with Nitrile Coated Foam Grip on Palm, Fingers & Knuckles, DZ



Coated Gloves

Item: PIP715SNFTKXL

Price: **\$47.85** DZ

Premium Seamless Knit Nylon/Spandex Glove with Nitrile Coated Foam Grip on Palm, Fingers & Knuckles, DZ



Coated Gloves

Item: PIP715SNFTKM

Price: **\$47.85** DZ

Premium Seamless Knit Nylon/Spandex Glove with Nitrile Coated Foam Grip on Palm, Fingers & Knuckles, DZ



Coated Gloves

Item: PIP715SNFTK2XL

Price: **\$47.85** DZ

Premium Seamless Knit Nylon/Spandex Glove with Nitrile Coated Foam Grip on Palm, Fingers & Knuckles, DZ



Container Dolly
Item: BWKDOLLY

Price: **\$37.74** EA

Refuse Container Utility Dolly, 300 lb Capacity, 18.25" Diameter, Gray



Counter Brush

Item: BWK5308

Price: **\$4.89** EA

Counter Brush, Black Polypropylene, 4.5" Brush, 3.5" Tan Plastic Handle



Cover Dispenser

Item: BWKKD100

Price: **\$25.43** EA

Toilet Seat Cover Dispenser, 16 x 3 x 11.5, White, 2/Box



Cover Dispenser

Item: BWKTS510SBBWEA

Price: **\$17.09** EA

Toilet Seat Cover Dispenser, 17.25 x 3.13 x 11.75, Smoke Black



Dust Cloths

Item: BWKDSMFPY

Price: **\$110.82** CT

Dust Cloths, 18 x 24, Yellow, 50/Bag, 10 Bags/Carton



Dust Mop Head

Item: BWK136

Price: **\$4.99** EA

Industrial Dust Mop Head, Hygrade Cotton, 60w x 5d, White



Dust Pan

Item: BWK02600

Price: **\$16.60** EA

Lobby Dust Pan, 11.75 x 37, 34" Handle, Plastic/Aluminum, Black



Duster, Lambswool

Item: BWKL26

Price: **\$6.55** EA

Lambswool Duster with 26" Plastic Handle, Assorted Colors



Facial Tissue

Item: AWT80220

Price: **\$34.50** CT

Premium Facial Tissue, Cube (Boutique Style), 8.5" x 7.8", 36/CT, 90 sheets

Soft, best value for Boutique style box



Facial Tissue

Item: AWT80200

Price: **\$26.50** CT

Optima 200 , Very Soft, Flat Box, 2 - ply, 30 Boxes / 100 sheets

Soft, best value.



Facial Tissue

Item: PGC84405

Price: **\$1.50** EA

Puffs Everyday Facial Tissue - 2 Ply - 8.40" x 8.20" - White - Soft, Comfortable, Strong, Lotion-free, Fragrance-free - 64 Per Box - 1 / Box



Facial Tissue

Item: PGC84405CT

Price: **\$29.99** CT/24

Puffs Everyday Facial Tissue - 2 Ply - 8.40" x 8.20" - White - Soft, Comfortable, Strong, Lotion-free, Fragrance-free - 64 Per Box - 24/ Box/CT



Facial Tissue

Item: SOL11516

Price: **\$42.99** CT/36

Livi Facial Tissues - 2 Ply - White - Virgin Fiber - Embossed, Absorbent - 90 Per Box -36 / Carton

Very Soft, \$1.19 BX



Facial Tissue

Item: SOL11513

Price: \$28.79 CT/30

Livi Solaris Paper 2-ply Facial Tissue, veryvery soft, 100 sheets/BX, 30 BX/CT

Best seller, \$0.96 per BX



Floor Brush

Item: BWK20224

Price: **\$16.05** EA

Floor Brush Head, 2.5" Black Tampico

Fiber Bristles, 24" Brush



Floor Brush

Item: BWK8420

Price: **\$19.85** EA

Dual-Surface Black Polypropylene Bristles, 10" Brush, Brown Plastic Handle



Floor Sign

Item: BWK26FLOORSIGN

Price: **\$16.77** EA

Site Safety Wet Floor Sign, 2-Sided, 10 x 2 x 26, Yellow



Grout Brush

Item: BWK9008

Price: **\$1.95** EA

Grout Brush, Black Nylon Bristles, 8.13" Blue Plastic Handle



Hand Soap

Item: BWK440CT

Price: **\$50.85** CT

Foaming Hand Soap, Herbal Mint Scent, 1 gal Bottle, 4/Carton



Hand Towel Dispenser

Item: BWK1500

Price: **\$37.95** EA

Ultrafold Multifold/C-Fold Towel Dispenser, 11.75 x 6.25 x 18, Black Pearl



Hand Towel Dispenser

Item: BWK29GREEN

Price: **\$10.00** EA

Xtra Mechanical Hands-Free Towel Dispenser, 12.31 x 9.31 x 15.94, Black



Hand Towels

Item: BWK6400

Price: **\$42.85** CT

Center-Pull Hand Towels, 2-Ply, Perforated, 7.87 x 10, White, 600/Roll, 6 Rolls/Carton



Hand Towels

Item: AWT80759

Price: **\$37.75** CT

Premium Extra Large Multi-Fold Towel, 12 Pkgs/200 Towels, 2400/CT

Premium large muti-fold towel. Save compared to the best premium brands.



Hand Towels

Item: AWT80779

Price: \$50.75 CT

Hard Wound Premium Roll Towel, Softer and Absorbent, White 6 Rolls / 1000ft, 8" wide

Our softest premium white roll towel. Compare to the premium brands



Hand Towels

Item: AWT104012

Price: **\$38.25** CT

Hard Wound Roll Towel, White, 6 Rolls / $8" \times 800'$

Lowest cost white roll towel



Hand Towels

Item: AWT104003

Price: **\$26.00** CT

Natural Kraft Multifold Paper Towel, 9.15 x 9.5, 1-Ply, 16 Packs per Carton

Lowest cost MF towel. Natural, softer than you expect at this price



Hand Towels

Item: AWT104017

Price: **\$33.30** CT

Hardwound Roll Towel, Natural / Kraft, 8" x 800', 6 Rolls / Ct

Lowest cost natural roll towel. Popular seller



Hand Towels

Item: AWT104000

Price: **\$29.10** CT

Multifold Towel, White, 16 Pkgs. / 250 Pkg, 4000/case

Lowest cost MF white towel. Excellent quality for the price



Hand Towels

Item: SOL43513

Price: \$36.21 CT/16

Livi Multifold Paper Towels - Eco-friendly, Soft, Embossed - 250 Per Pack - 16 / Carton - 4000 sheets

Best Seller



Kitchen Towel

Item: PGC74682

Price: **\$18.05** CT/12

Bounty Essentials Select-A-Size Paper Towels - 12 Big Rolls = 16 Regular - 2 Ply -83 Sheets/Roll - White - For Kitchen - 12 / Carton



Kitchen Towel

Item: PGC74651

Price: **\$11.07** PK/6

Bounty Select-A-Size Paper Towel - 2 Ply - 83 Sheets/Roll - Strong - 6 x 83 sheets



Kitchen Towel

Item: SOL41504

Price: \$39.99 CT/30

Livi Two-ply Kitchen Roll Towel - 2 Ply - 9" x 11" - 85 Sheets/Roll - Absorbent, Soft, Embossed - 30 / Carton

Most requested



Kitchen Towels

Item: AWT80725

Price: **\$34.95** CT

Kitchen Towels Optima 725 , 2 - ply, 30 Rolls / 85 Sheets, 9.0" x 11.0"

Absorbent, lowest cost



Kitchen Towels

Item: AWT80720

Price: **\$43.00** CT

Kitchen Towels, Select-a-Sheet size, Premium, More Absorbent, 2 - ply, 24 Rolls, 152 sheets

Select-a-Sheet



Leather Glove

Item: PIP68106S

Price: **\$43.29** DZ

Industry Grade Top Grain Cowhide Leather Drivers Glove - Straight Thumb, DZ



Leather Glove

Item: PIP68106L

Price: **\$43.29** DZ

Industry Grade Top Grain Cowhide Leather Drivers Glove - Straight Thumb, DZ



Leather Glove

Item: PIP681062XL

Price: **\$43.29** DZ

Industry Grade Top Grain Cowhide Leather Drivers Glove - Straight Thumb, DZ



Leather Glove

Item: PIP68106M

Price: **\$43.29** DZ

Industry Grade Top Grain Cowhide Leather Drivers Glove - Straight Thumb, DZ



Leather Glove

Item: PIP68106XL

Price: **\$43.29** DZ

Industry Grade Top Grain Cowhide Leather Drivers Glove - Straight Thumb, DZ



Liner, Trash Can

Item: COLCRTGG39X

Price: **\$48.69** CT/250

Premium Low Density Liners; 33x39; 1.0 Mil; Black; 10/25; 250 Bags; 33 Gal

Lowest cost tash bags. Excellent quaility



Liner, Trash Can

Item: COLHCR3710C

Price: \$37.83 CT/500

High Density Clear Can Liners; 30x37; 10 Micron; Clear; 20/25; 500 Bags; 20-30 Gal

Lowest cost tash bags. Excellent quality



Liner, Trash Can

Item: COLHCR62XC

Price: **\$49.52** CT/200

High Density Clear Can Liners; 38x58; 17 Micron; Clear; 10/20; 200 Bags; 60 Gal

Lowest cost tash bags. Excellent quality



Liner, Trash Can
Item: COLHCR48STC

Price: **\$43.36** CT/150

High Density Black Can Liners; 40x48; 22 Micron; Clear; 10/15; 150 Bags; 40-45 Gal

Lowest cost tash bags. Excellent quaility



Liner, Trash Can

Item: COLHCR24LC

Price: **\$24.86** CT/1000

High Density Clear Can Liners; 24x24; 6 Micron; Clear; 20/50; 1000 Bags; 10 Gal

Lowest cost tash bags. Excellent quality



Liner, Trash Can

Item: COLCRTGG46HP

Price: **\$34.87** CT/100

Premium Low Density Liners; 40x46; 1.2 Mil; Black; 5/20; 100 Bags; 40-45 Gal

Lowest cost tash bags. Excellent quality



Liner, Trash Can

Item: COLRPR5815

Price: **\$49.40** CT/100

Premium Low Density Can Liners; 38x58; 1.5 Mil; Black; 10/10; 100 Bags; 60 Gal

Lowest cost tash bags. Excellent quaility



Liner, Trash Can

Item: COLCRTGG58X

Price: \$32.38 CT/100

Premium Low Density Liners; 38x58; 1.0 Mil; Black; 10/10; 100 Bags; 60 Gal

Lowest cost tash bags. Excellent quality



Liner, Trash Can

Item: COLRPR3915

Price: **\$29.55** CT/100

Premium Low Density Can Liners; 33x39; 1.5 Mil; Black; 5/20; 100 Bags; 40 Gal

Lowest cost tash bags. Excellent quality



Liner, Trash Can

Item: COLCRTGG36X

Price: **\$39.00** CT/250

Premium Low Density Liners; 30x36; 1.0 Mil; Black; 10/25; 250 Bags; 20-30 Gal

Lowest cost tash bags. Excellent quality



Liner, Trash Can

Item: COLCRB36H

Price: **\$27.42** CT/250

Premium Low Density Liners; 30x36; 0.6 Mil; Black; 10/25; 250 Bags; 20-30 Gal

Lowest cost tash bags. Excellent quaility



Liner, Trash Can

Item: COLCRB23H

Price: **\$35.65** CT/500

Premium Low Density Liners; 24x23; 0.6 Mil; Black; 20/25; 500 Bags; 10 Gal

Lowest cost tash bags. Excellent quality



Liner, Trash Can

Item: COLCRB32L

Price: **\$51.01** CT/1000

Premium Low Density Liners; 24x32; 0.35 Mil; Black; 20/50; 1000 Bags; 15 Gal

Lowest cost tash bags. Excellent quality



Liner, Trash Can

Item: COLDT2429W

Price: \$19.84 CT/100

Drawstring Low Density Can Liners; 24x29; 0.9Mil; White; 10/10; 100 Bags; 13 Gal

Lowest cost tash bags. Excellent quaility



Liner, Trash Can

Item: COLHCR33MC

Price: **\$45.90** CT/1000

High Density Clear Can Liners; 24x33; 8 Micron; Clear; 20/50; 1000 Bags; 15 Gal

Lowest cost tash bags. Excellent quality



Liner, Trash Can Item: COLHCR48XC

Price: **\$51.68** CT/250

High Density Clear Can Liners; 40x48; 16 Micron; Clear; 10/25; 250 Bags; 40-45 Gal

Lowest cost tash bags. Excellent quaility



Liner, Trash Can

Item: COLCRB32H

Price: **\$42.97** CT/500

Premium Low Density Liners; 24x32; 0.6 Mil; Black; 20/25; 500 Bags; 15 Gal

Lowest cost tash bags. Excellent quality



Microfiber Cloths

Item: BWK16PINCLOTHV2

Price: **\$25.85** PK

Microfiber Cleaning Cloths, 16 x 16, Pink, 24/Pack



Microfiber Cloths

Item: BWK16BLUCLOTHV2

Price: **\$25.85** PK

Microfiber Cleaning Cloths, 16 x 16, Blue, 24/Pack



Microfiber Cloths

Item: BWK16GRECLOTHV2

Price: **\$25.85** PK

Microfiber Cleaning Cloths, 16 x 16, Green, 24/Pack



Mop Handle

Item: BWK1490

Price: **\$12.20** EA

Clip-On Dust Mop Handle, Lacquered Wood, Swivel Head, 1" dia x 60", Natural

Mop Handle

Item: BWK610

Price: **\$8.85** EA

Plastic Jaws Mop Handle for 5 Wide Mop Heads, Aluminum, 1" dia x 60", Yellow



Mop Head

Item: BWKMFM185BCFDZ

Price: **\$84.65** DZ

Microfiber Mop Head, Blue, 18 x 5, Split Microfiber, Hook and Loop Back, Dozen



Mop Head Handle

Item: BWK620

Price: **\$8.85** EA

Quick Change Side-Latch Plastic Mop Head Handle, 60" Aluminum Handle, Yellow



Mop System

Item: BWKBWMS16MFM

Price: **\$130.95** KT

Bucketless Microfiber Mop System, 5 x 18 Blue Microfiber Head, 59" Gray Aluminum/Polypropylene Handle



Nitrile Gloves, Large

Item: IMPGNEPLGK

Price: **\$58.50** CT/1000

Black Powder Free Nitrile Gloves; Examination; 4.3 Mil; 100/BX; 10BX/CS; Large



Nitrile Gloves, Large

Item: IMPGNEPLGKBX

Price: **\$6.50** BX/100

Black Powder Free Nitrile Gloves; Examination; 4.3 Mi; 100/BX; Large



Nitrile Gloves, Large Item: IMPGNEPLG1BX

Price: **\$5.50** BX/100

ProGuard; Powder Free Blue Exam Nitrile Gloves; Large; 3.7 Mil; 100/BX



Nitrile Gloves, Large

Item: IMPGNEPLG1

Price: **\$49.25** CT/1000

ProGuard; Powder Free Blue Exam Nitrile Gloves; Large; 3.7 Mil; 100/BX; 10/CS



Nitrile Gloves, Medium

Item: IMPGNEPMDK

Price: **\$58.50** CT/1000

Black Powder Free Nitrile Gloves; Examination; 4.3 Mil; 100/BX; 10BX/CS; Medium



Nitrile Gloves, Medium

Item: IMPGNEPMD1

Price: \$49.25 CT/1000

ProGuard; Powder Free Blue Exam Nitrile Gloves; Medium; 3.7 Mil; 100/BX; 10/CS



Nitrile Gloves, Medium

Item: IMPGNEPMD1BX

Price: **\$5.50** BX/100

ProGuard; Powder Free Blue Exam Nitrile Gloves; Medium; 3.7 Mil; 100/BX



Nitrile Gloves, Medium

Item: IMPGNEPMDKBX

Price: **\$6.50** BX/100

Black Powder Free Nitrile Gloves; Examination; 4.3 Mil; 100/BX; Medium



Nitrile Gloves, Small Item: IMPGNEPSMK Price: **\$58.50** CT/1000 Black Powder Free Nitrile Gloves; Examination; 4.3 Mil; 100/BX; 10BX/CS; Small



Nitrile Gloves, Small

Item: IMPGNEPSMKBX

Price: **\$6.50** BX/100

Black Powder Free Nitrile Gloves; Examination; 4.3 Mil; 100/BX; Small



Nitrile Gloves, Small

Item: IMPGNEPSM1

Price: **\$49.25** CT/1000

ProGuard; Powder Free Blue Exam Nitrile Gloves; Small; 3.7 Mil; 100/BX; 10/CS



Nitrile Gloves, Small

Item: IMPGNEPSM1BX

Price: **\$5.50** BX/100

ProGuard; Powder Free Blue Exam Nitrile Gloves; Small; 3.7 Mil; 100/BX



Nitrile Gloves, X-Large

Item: IMPGNEPXL1BX

Price: **\$5.50** BX/100

ProGuard; Powder Free Blue Exam Nitrile Gloves; Extra Large; 3.7 Mil; 100/BX



Nitrile Gloves, X-Large

Item: IMPGNEPXLK

Price: **\$58.50** CT/1000

Black Powder Free Nitrile Gloves; Examination; 4.3 Mil; 100/BX; 10BX/CS; X-Large



Nitrile Gloves, X-Large

Item: IMPGNEPXL1

Price: **\$49.25** CT/1000

ProGuard; Powder Free Blue Exam Nitrile Gloves; Extra Large; 3.7 Mil; 100/BX; 10/CS



Scouring Pad

Item: BWK186

Price: **\$8.05** PK

Heavy-Duty Scour Pad, 6 x 9, Green 15/Carton



Scouring Pad

Item: BWK174

Price: **\$18.85** CT

Scrubbing Sponge, Medium Duty, 3.6 x 6.1, 0.75" Thick, Yellow/Green, Individually Wrapped, 20/Carton



Scouring Pad

Item: BWK196

Price: **\$8.99** CT

Medium Duty Scour Pad, 6 x 9, Green, 20/Carton



Seat Covers

Item: BWKK5000B

Price: **\$44.95** CT

Premium Half-Fold Toilet Seat Covers, 14.17 x 16.73, White, 250 Covers/Sleeve, 20 Sleeves/Carton



Towels, Multifold

Item: BWK6202

Price: **\$23.23** CT

Multifold Paper Towels, 1-Ply, 9 x 9.45, Natural, 250/Pack, 16 Packs/Carton



Urinal Screen

Item: BWKGEMMAN

Price: **\$29.95** BX

Gem Urinal Screens, Mango Scent, Orange, 12/Box



Urinal Screen

Item: BWKGEMSAP

Price: **\$29.95** BX

Gem Urinal Screens, Spiced Apple Scent, Red, 12/Box



Utility Cart

Item: BWK4024UCGRA

Price: **\$199.85** EA

Two-Shelf Utility Cart, Plastic, 2 Shelves, 300 lb Capacity, 24" x 40" x 31.5", Gray



Vinyl Gloves, Large

Item: IMPGVP9LG1BX

Price: **\$3.50** BX/100

Powder Free Clear Vinyl Gloves; Large; 100/BX



Vinyl Gloves, Large

Item: IMPGVP9LG1

Price: **\$29.25** CT/1000

Powder Free Clear Vinyl Gloves; Large; 100/BX; 10/CS



Vinyl Gloves, Medium

Item: IMPGVP9MD1

Price: **\$29.25** CT/1000

Powder Free Clear Vinyl Gloves; Medium; 100/BX; 10/CS



Vinyl Gloves, Medium
Item: IMPGVP9MD1BX

Price: **\$3.50** BX/100

Powder Free Clear Vinyl Gloves; Medium; 100/BX



Vinyl Gloves, Small

Item: IMPGVP9SM1

Price: **\$29.25** CT/1000

Powder Free Clear Vinyl Gloves; Small; 100/BX; 10/CS



Vinyl Gloves, Small

Item: IMPGVP9SM1BX

Price: **\$3.50** BX/100

Powder Free Clear Vinyl Gloves; Small; 100/BX



Vinyl Gloves, X-Large

Item: IMPGVP9XL1

Price: **\$29.25** CT/1000

Powder Free Clear Vinyl Gloves; X-Large; 100/BX; 10/CS



Vinyl Gloves, X-Large

Item: IMPGVP9XL1BX

Price: **\$3.50** BX/100

Powder Free Clear Vinyl Gloves; X-Large; 100/BX



Wipers

Item: BWKP070IDB

Price: **\$116.10** CT

Hydrospun Wipers, 9 x 16.75, Blue, 100 Wipes/Box, 10 Boxes/Carton



Wipers

Item: BWKV030QPW

Price: **\$64.85** CT

DRC Wipers, 12 x 13, White, 90 Bag, 12 Bags/Carton



Wipers

Item: BWKV030IDW2

Price: **\$67.10** CT

DRC Wipers, 9.33 x 16.5, White, 100 Dispenser Packs, 9 Dispenser Packs/Carton



Wipers

Item: BWKV040CGW

Price: **\$18.85** CT

DRC Wipers, Centerpull, 10 x 12, White, 200/Carton



Wipes

Item: BWK454W35

Price: **\$38.85** CT

Disinfecting Wipes, 7 x 8, Fresh Scent, 35/Canister, 12 Canisters/Carton

